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Step 1:Initialization

¢« egshM U pegss TlEH N TLYSHcommonld,
FhFnincludeT <L) —RU
pegscommonsT AL IK)—MD T 74 )L
% "include’ XX CTHIY AL

o EEMNLIRMEINI=DA AN —BHFRLED
A—H—a—FDH TEHRIN Hcommon
[X. auxcommonsT 4L IR )—D 774 IL%
includeX THY AL




ECHDRESDIETE

comMONTEAIN TS EHMDEFTI D KESIE.
parameter X TETE

— egS5TERAESN TLYScommonD ZE (.
Include/egss _h.f

- A—Y—a—FTOHERETNScommonD E .
auxcommns/aux_h.f

common& B L L&D (ZincludeXIZ&YEYAEN S,

BRADRESZEET HIGE (L. parameter XD E
HMELZHEITH




include 'include/egs5 _h.f' I Main EGS "header" file

include 'include/egs5 _bounds.f'
include 'include/egs5 _brempr.f'
include 'include/egs5_edge.f'
include 'include/egs5_media.f'
include 'include/egs5_misc.f'
include 'include/egs5_thresh.f'
include 'include/egs5_uphiot.f'
include 'include/egs5_useful.f’
include 'include/egs5_usersc.f'
include 'include/egs5_userxt.f'
include 'include/randomm.f'

egsb common [ZEFENSEHEAC TS

SLEDTOTSLBEATHERTHGEIE.
includeXX T & commonZig5E



include 'auxcommons/aux_h.f' ! Auxiliary-code "header" file

include 'auxcommons/edata.f
include 'auxcommons/etalyl1.f'
include 'auxcommons/instuf.f'

include 'auxcommons/lines.f' A AN —BEEL—Y——FK
include ‘auxcommons/nfac.f' D HTCERINBScommon

include 'auxcommons/watch.f'

include 'auxcommons/etaly2.f' | Added SJW for energy balance

CGE &M commonT, CGEERAT HIGRIZITBICHNE (LR HEL)

include 'auxcommons/geom_common.f' ! geom-common file
integer irinn



In include/egs5 h.f

I Maximum number of regions allocated

integer MXREG -y NN

include/egs5_misc.f

common/MISC/ I Miscellaneous COMMON
*rhor(MXREG), dunit,
*med(MXREG),iraylr(MXREG),Ipolar(MXREG),incohr(MXREG),
*iprofr(MXREG),impacr(MXREG),
*kmpi,kmpo,noscat

real*8
*rhor,dunit

integer
*med,iraylr,Ipolar,incohr,iprofr,impacr,kmpi,kmpo,noscat



common/totals/ | Variables to score

* depe(20),faexp,fexps,imode,ndet cD1—H—a—FEE
real*8 depe,faexp,fexps dcommon
iInteger imode,ndet

main programTERT HEREEDEH

|**** real*8 | Local variables
real*8
* area,availke,depthl,depths,dis,disair,ei0,ekin,elow,eup,
* phaiO,phai,radma2,sinth,sposi,tnum,vol,w0,wimin,wtin,wtsum,
* Xhbeam,xpf,ynbeam,ypf

real*8 bsfa,bsferr,faexps,faexp2s,faexrr,fexpss,fexps2s,fexerr,
* faexpa,fexpsa

real*8
* depeh(20),depeh2(20),dose(20),dose2(20),doseun(20),ebint(201),
*nofebin(1),deltae(1),sspec(1,201),ecdft(201),saspec(201)



main programTER TS ERBEDEH

real
* tarray(2),tt,tt0,tt1,cputime

main program CERT 5B H#

integer
*1,il,ibatch,icases,idin,ie,ifti,ifto,imed,ireg,isam,
*ixtype,j,k,kdet,nlist,nnn,nsebin

MERITERT HXFEI(243F)

character*24 medarr(2)



OpenXX

o A—H—O—kH\5, pegseERITT HDIC
FLy, 2=k 7-261%. pegsT close T3
ZEMD AT 77L\’C open LTLNVT
:E)\ pegsiﬁ:ﬁﬁk~ : 923 Open _d_éu&b\z‘
B35, TDI=8H, A=V 7-26DERA%E
Wt THAMNERLY,

o REMEHRZE H N9 Bplotxyz.fD1=vhkI,
OMBHIZEE




Step 2:pegss-call

c MBT—ERUEYE Dcharacteristic
distancezx X E L -8 T. pegsbzcald %,

nmed=2 pegSS TR T H2MET—
medarr(1)="WATER-IAPRIM-PHOTX ' BN &I, pegsSD A H
medarr(2)='"AIR-AT-NTP-IAPRIM ' F—A(A=wk 2455
AFH) EXF I
do j=1,nmed
doi=1,24 .
media(i,j)=medarr(j)(i:i) dﬁiﬁﬁﬁﬁmharade”s“c
end do istance
end do HEMED)—2arTH,
RH/INESWH A XEIRTE
chard(1) =1.0d0 | optional, but recommended
to invoke

chard(2) =1.0d0 | automatic step-size control



Step 3:Pre-hatch-call-initialization
npreci=2 ! Pict data mode for CGView

itbody=0
irppin=0
iIsphin=0
irccin=0 CGREDNEZEITIER

itorin=0 - Ry
trein=0 CCZERT HImE L. BELILY,

izonin=0

itverr=0

igmmax=0

ifti=4 !lInput unit number for cg-data
ifto =39 ! Output unit number for PICT

write(39,100)

100 FORMAT('CSTA")
call geomgt(ifti,ifto)
write(39,110)

110 FORMAT('CEND")

nreg=izonin
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Z1
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A4S
Z6
Z7
Z8
Z9
Z10
Z11
Z12
Z13
Z14

+10
+11
+12
+13
+14
+15

A

77V RLRINDZES :region 1
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Z15 +16 «— REFEDOFZMEE region 15-21

Z16 +17

Z17 +18

Z18 +19

Z19 +20

Z20 +21

Z21 +22

222 +2 -23 < REFTE LIS DAY region 22
Z23 +24 < ERDERE region 23

724 +25 -1 -2 -24 < ETEHR T OFEE region 24



B)—oao~DOYE. BBEA T avDERE

Set medium index for each region
Vacuum region

med(nreg)=0
Air region
med(1)=2
med(nreg-1)=2

Water region

do i=2,nreg-2
iphter(i) = 1
ledgfl(i) =1
lauger(i) =0
iraylr(i) =1
Ipolar(i) =0
incohr(i)=0
iprofr(i) =0
impacr(i) =0
med(i)=1

end do

T7URL)—D3 T . RABEFDES
Enf. FEXR. L1 —8ELAT
AVEETE
I Switches for PE-angle sampling
l K & L-edge fluorescence
l K & L-Auger
| Rayleigh scattering
| Linearly-polarized photon scattering
| S/Z rejection
I Doppler broadening
I Electron impact ionization
IWater phantom region



estepe=0.10
estepe2=0.20

IRILEF—ELDDI=HDINFGA—ZERTE
estepe M AIRILXF—DEF-IBE
estepe2. JIPIRILF—BF-I5EF



=3 BICRETESA Tay
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iphter JO0odoooooooooon
iedgfl K&L-OOXOOOO

lauger K&L-OOODOOOOOo

iraylr Oo000on

Ipolar Joooogoodd

incohr S/7Z rejection

iprofr O0000oon

impacr Joooon




ELE (ranluxELER)

I Random number seeds. Must be defined before call hatch
I or defaults will be used. inseed (1- 2"31)

inseed=1
write(1,140) inseed
140 FORMAT(/," inseed=",112,5X,
* ' (seed for generating unique sequences of Ranlux)")

Ehof-iseedBIC, EFELLGVELBZRET HEATEE
R DEEICHER)



Step 4: ABTRIFDINTA—R—KTE

doi=1,1 . e
read(2,*) nofebin (i) XERIRIRER D FEAr A
read(2,*) deltae(i)
read(2,*) (sspec(i,ie),ie=1,nofebin(i))

end do

S — iRm0 13 R
150 write(6,160)

160 FORMAT(' Key in source type. 1:100kV")
read(5,*) ixtype
if (ixtype.eq.0.or.ixtype.gt.1) then
write(6,170)
170 FORMAT( IXTYPE must be >0 <=1.")
go to 150
end if



! Makeenergy bin table BB TIT DD IRILF—
oo ELT—TIL DR
doie=1,nsebin
ebint(ie)=(ie-1)*deltae(ixtype)
end do

| Define sour ce position from phantom surface. RRALEDIE (F—HR—Fhi5)
write(6,180)

180 FORMAT (" Key in source position from phantom surfacein cm')
read(5,*) spos

iqin=0 I Incident charge - photons AL F DI

ekein=ebint(nsebin) I Maximum Kinetic ener gy IRIILF—XEBEORKIRILE—)
aorckan [l . AT

yin=0.D0 ASHRIFDRET 5')—3a (irin=0; cgj
Zin=-spos BEHRALETEL TRE)

uin=0.D0

vin=0.D0

win=1.D0

irin=0 ! Sourceregion number isdefined from xin and yin.



PFDIELE

IRILF—(XBEOZRRKIRILF—)

&, A

ASHHFDRBTS)—3y (irin=0; cg fEHRM S EL TRE)

1qin=0 I Incident charge - photons
ekein=ebint(nsebin) I Maximum kinetic energy
etot=ekein

xin=0.D0

yin=0.D0

Zin=-sposi

uin=0.D0

vin=0.D0

win=1.D0

irin=0 ! Source region number is defined from xin and yin.



77V RLRETOXRVYDF
T, fi1E (F—R—F A )

I Key in half width and height at phantom surface

write(6,190)
190 FORMAT(' Key in half width of beam at phantom surface in cm.’")
read(5,*) xhbeam
write(6,200)
200 FORMAT( Key in half height of beam at phantom surface in
cm.")
read(5,*) yhbeam
radma2=xhbeam*xhbeam+yhbeam*yhbeam
wimin=sposi/dsqrt(sposi*sposi+radmaz2)

HAENFIZ G LT= 0 (23T Bcoso

L E—FDRER (F—HR—F)
write(6,210)

210 FORMAT( Key in mode. O:trajectory display, 1:dose calculation')
read(5,*) imode



Step 5:  hatch-call

B BEFOEIRILF—DHRKEET

emaxetL’CaQEL hatch Z call 9%

f"lﬁ *&’Eﬁ% nru\-d—%)f’&) 'hs q:%ﬁ
Q&U%U—/El/@'lﬁ*ﬁ’i’u AN RS

I:IJ L

emaxe = ekein + RM

RRAFOAEFDOBZE ELMICRBELEFOIRILF—ICEFD
HLEIRILEF—ZMAT-EZHRTET S



Step 6:Initialization-for-howfar

e« A—H—O—FTEHEARAITLIHRT—2%%
I 5
— Eir, HE. BKGEIZEATH5T—4
o CGEERALTWWAZNDA—YY—a—FTIL.
fiZARIZ F*E]_d—éT—/)"(i cgANT—42¢EL
Tstep 6LLRTICALIEL TIVAD T, CDstep
Egirgj_é;&‘iféb\




Step 7: Initialization-for-ausgab

s STETKROHS=DHHAE
o HIDGEE T, EEGAHEZIT H)—3>DH
e STELI=LERKM)—%(ncases)ZeF—HR—F
MDD ANTHRET S
- 0DIZEIX.FTEDRRT

write(6,360) nreg-4
360 format(' Key in number of dose calculation region.(<=',15,")")
read(5,*) ndet

380 write(6,390)

390 FORMAT(' Key in number of cases (0 means end of calculation.)")
read(5,*) ncases

If (ncases.eq.0) go to 570



Step 8: Shower-call

ncasesBIDEAR)—FETT 5
REMFER I 7AILIZ, ibatch(zxx# (&, DF
ELEXT D

FERAM)—EIZ, RIRIFMALFDIELE.
IRIILFT—, B, ARDZFERTE




410

call randomset(wO)
win=wO0*(1.0-wimin)+wimin
call randomset(phai0) 48 3E D F5 [ L B DR
phai=pi*(2.0*phai0-1.0) . - Spot ke
uin=dcos(phai)*sinth HESYES ¥
vin=dsin(phai)*sinth
dis=sposi/win
xpf=dis*uin
ypf=dis*vin
If (dabs(xpf).gt.xhbeam.or.dabs(ypf).gt.yhbeam) go to 410
if (sposi.gt.5.0) then
disair=(sposi-5.0)/win BRROUENZEZRBONIDIGES ., ZS
xin=disair*uin BOAYOTHOMEZASRHFDAEEL
yin=disair*vin THE
zin=-5.D0
else
xin=0.D0
yin=0.D0
Zin=-sposi
end if



ASFRFDLEENS, TDBAID)—230BFBERDSB
irin=0M T, CCTY—La VB EINRTESIND

if(irin.le.0.or.irin.gt.nreg) then
call srzone(xin,yin,zin,igin+2,0,irinn)
call rstnxt(igin+2,0,irinn)

else
irinn=irin

end if



call randomset(eiO)
do ie=2,nsebin
If (ei0.It.ecdft(ie)) then

go to 420
end if RBETRILX—DIRE
end do COFM DY TYL Y TRE
420 if (ie.gt.nsebin) then
le=nsebin
end if

saspec(ie)=saspec(ie)+1.D0O
If (ecdft(ie).eq.ecdft(ie-1)) then
ekin=ebint(ie-1)
else
ekin=ebint(ie-1)+(ei0-ecdft(ie-1))*(ebint(ie)-ebint(ie-1))/
* (ecdft(ie)-ecdft(ie-1))
end if



HHELEVWEDTEELEDABZERDLIEHIC, EAN) —BDELEDBERZEZMAS

do kdet=1,ndet
depeh(kdet)=depeh(kdet)+depe(kdet)
depeh2(kdet)=depeh2(kdet)+depe(kdet)*depe(kdet)
depe(kdet)=0.0
end do

faexps=faexps+faexp
faexp2s=faexp2s+faexp*faexp
faexp=0.0
fexpss=fexpss+fexps
fexps2s=fexps2s+fexps*fexps
fexps=0.0
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MORSE-CGTH#ERALTWSAE

e HEIINEDAF HIFIZTDOWLTITHh, x [X.i-FE
DERN)—DIERTHHET S
e “N' ERFMJ—% . FNFN NNnERN)—DnED/\YF
27 &9 5
o BN\UTFEIZFEONT-EZ X,.LT D

x:ijx. x; DT
, n 5 X; D5EL
=i 1205~ ﬁZ(X
S2 \
o - T

3‘><

T

D MAIRERE

| |4



Step 9: Output-of-results

o« MREMH. MRFOREHO LS
- EOHAHETH DN ETRT T=HITH N

—cgDBEIL. BIKET—3NSEEIRT ZEN
B THWDT, BELGIEHEZRELTH S

ER

o XIRDIRBEARIMILEY VTV THERD

Lb B

EHEDFEZDE

=0)3

EEREZFTRL.

FEDFIM L., KO-

HA9 5



IR IR iR =

area=1.D0*1.DO

do kdet=1,ndet
vol=area*1.DO0
dose(kdet)=depeh(kdet)/ncases
dose2(kdet)=depeh2(kdet)/ncases
doseun(kdet)=dsqrt((dose2(kdet)-dose(kdet)*dose(kdet))/ncases)
dose(kdet)=dose(kdet)*1.602E-10/vol
doseun(kdet)=doseun(kdet)*1.602E-10/vol
depths=kdet-1.0
depthl=kdet
write(6,530)depths,depthl,(media(ii,med(kdet+1)),ii=1,24),

* rhor(kdet+1),dose(kdet),doseun(kdet)

530 FORMAT(" At ',F4.1,'--",F4.1,'cm (*,24A1,',rho:',F8.4,")=",

* (G13.5,'+-',G13.5,'Gy/incident")
write(1,530) depths,depthl,(media(ii,med(kdet+1)),ii=1,24),

* rhor(kdet+1),dose(kdet),doseun(kdet)

end do



ausgab

ausgab (£, 1 —H—HM G -MEHREEEZTH YT IL—F
VTHB
7N LFBE THRIR =

7V LRETHOEGHRE

iIf (irl.ge.2.and.irl.le.nreg-3) then
idet=irl-1
if(idet.ge.l.and.idet.le.ndet) then
depe(idet)=depe(idet)+edepwt/rhor(irl)
end if
end if

RETHEOBBOHTOES, BEuESH-YDRIVR
E*HEIS

rhor (irl)l&. H&&Z—23a> DOEE



BMAREDTH

if (abs(irl-irold).eq.1.and.ig(np).eq.0) then RFLEERT -GS
if((w(np).gt.0.0.and.irl.eq.2).or.(w(np).le.0.0.and.irl.eq.1))
* then I7VrLRITEDEGE
if (dabs(w(np)).ge.0.0349) then
cmod=dabs(w(np)) FEAFR: EAEETEBET DA FR
else DEHE --cosh DHHIE
cmod=0.0175
end if
esing=e(np) / IRILEX—ESINGORFIZXTS
dcon=encoea(esing) | PHOTX data ZESOEERIVRH

fexps=fexps+e(np)*dcon*wt(np)/cmod

if (w(np).It.0.0) latch(np)=1

if (w(np).gt.0.0.and.latch(np).eq.0) then
faexp=faexp+e(np)*dcon*wt(np)/cmod

end if

end if
end if



howfar

howfar [X. egs [TV A AN —IZB89 B EHREITZAD YT

JL—F>

howfar (£, ustep DFEHIZ, )—LavEBERNHOIMNE>IE

FARDL, HAEGEICIT,

—ustep ZIERFEFTOIREICEETHRZAS

—imew ZHRIFHASDTLK) =3V BERITERTET
Z3)

FLFH . —H—HEHE LEH LRI (B (KR ) [T3E

L=(EBULNZIEL, idiscard 755 %112 ET 5

FRITLIOFAN)—IL—T 1 BIZEGE>F=howfarklib

— cgZREALTWAESK. CO1A—F—a—FDOhowfaZ{FEHT 3
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